
Day nine (2nd April 2020) 

 

Arithmetic warm up. 
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7
  ÷ 2 =  

7.9 + 0.42 =  

1320 ÷ 11 = 

90% of 2000 =  

5792 ÷ 32 = 

3

4
  +  

3

12
   = 

 

Main activity – Coordinates 

Remember the x axis is horizontal (across) and the y axis is vertical (goes up and down). 

The x coordinate is written and plotted first and the y coordinate is written and plotted 

second. 

Positive x coordinates mean movement to the right. 

Positive y coordinates mean movement up. 

Negative x coordinates mean movement to the left. 

Negative y coordinates mean movement down. 

 

  



 

  



 

  



 


